
FIRST YEAR HIGHER SECONDARY TERMINAL EXAMINATION

PART-III
CHEMISTRY

Maximum-60 Scores
           Time : 2 Hours

Cool off Time : 15 minutes

SAMPLE QUESTION PAPER PREPARED IN CLUSTER MEETING

There is a ‘Cool-off time’ of 15 minutes in addition to the writing time.

General Instructions to Candidates :

Use the ‘Cool-off time’ to get familiar with questions and to plan your answers.

Read questions carefully before answering.

Read the instructions carefully.

Calculations, figures and graphs should be shown in the answer sheet itself.

Malayalam version of the questions is also provided.

Give equations whereever necessary.

Electronic devices except non-programmable calculators are not allowed in the
Examination Hall.

hnZym¿-∞n-Iƒ-°p≈ s]m-Xp-\n¿-t±-ißƒ :

\n¿-±n-„ k-a-b-Øn-\v ]p-d-sa 15 an-\n-‰v 'Iqƒ Hm-̂ v ssSw' D-≠m-bn-cn°pw

'Iqƒ Hm-̂ v ss{Sw' tNm-Zy-ßƒ ]-cn-N-b-s∏-Sm\pw D-Ø-c-ßƒ B-kq-{X-Ww 

sN-øm\pw D-]-tbm-Kn-°pI.

DØc-ßƒ F-gp-Xp-∂-Xn-\v ap-ºv tNm-Zy-ßƒ {i-≤m-]q¿-∆w hm-bn-°aw.

\n¿-t±-i-ßƒ ap-gp-h\pw {i-≤m-]q¿-∆w hm-bn-°Ww.

IW-°v Iq-́ -epIƒ, Nn-{Xßƒ, {Km-̂ pIƒ, F∂n-h D-Ø-c-t]-∏-dn¬ Xs∂

D-≠m-bn-cn-°Ww.

tNm-Zy-ßƒ a-e-bm-f-Ønepw \¬-In-bn-́ p≠v.

B-h-iy-ap-≈ ÿe-Øv k-a-hm-Iy-ßƒ sIm-Sp-°Ww.

t{]m-{Km-ap-Iƒ sN-øm-\m-Im-Ø Im¬-°p-te-‰-dp-Iƒ H-gn-sI-bp-≈ Hcp

Ce-t{Œm-Wn-Iv D-]-I-c-Whpw ]-co-£m-lm-fn¬ D-]-tbm-Kn-°p-hm≥ ]m-Sn√.



Answer any four 4 questions from 1 to 5. (Each 

question carries 1 score)1.

1. Who proposed law of multiple proportion?

2. IUPAC nomenclature of element with atomic 

number 101.
-

3. Conjugate acid - base pair of HSO 4

4. In Duma’s method nitrogen is estimated in the 

form of .............. (NH , N , NO, NO )3 2 2

5.

is arromatic or not ? Which rule is applied here

Answer any eight questions from 6 to 15 (each 

questions carries 2 score)

6. Predict the orbital

a) n = 4,    l = 0,   b) n = 3,   l = 1 (½ each)

b) Which of the following set of quantum 

numbers not possible? Why?

i) n = 4, I = 0 m  = 0 m  = + ½l s

ii) n = 2 I = 2 m  = 0 m  = -½l s

7.  What are the spectral lines in hydrogen spectra?

8. Among H S & H O, Which one has higher 2 2

boiling point why?

9. Define buffer sulution. Suggest suitable 

example?

10. Suggest a method to purify a mixture of 

chloroform and aniline?

11. a) Write Gibbs Helmholtz equation

b) Predict the free energy change for a process at 

equilibrium

12. Molarity & Molality are the terms used to 

express the concentration of solution. Which 

one is temperature dependent? Why

13. a) What is Medeleeves’s periodic law?

b) Write it’s any one merit.

1 apX¬ A©p hscb- p≈ tNmZyß- f- n¬ GsX¶- nepw 

5 FÆØ- n\v DØc- s- ag- pX- pI- . (1 kvtIm¿ hoXw)

1. aƒ́n∏- nƒ s{]mt]m¿j≥ \nbaw AhX- c- n∏- n®- X- mcv?

2. At‰m-anI \º¿ 101 Bb aqe-I-Øns‚ IUPAC 

\maw Fg-Xp-I.

-3. HSO s‚ tIm̈Pp-tK‰v Bkn-Uvs_bvkv tPmUn 4

Fgp-Xp-I.

4. Uyqamkv coXn-bn¬ ss\{S-Ps\ Af-°p-∂Xv GXv 

-cq-]-Øn¬ BWv?  (NH , N , NO, No )3 2 2

5.

\m̂vØ-eo≥ Btcmam‰nIv BtWm?

CXn¬ D]-tbm-Kn-®n-cn-°p∂ \nbaw GXv?

6 apX¬ 15 hsc-bp≈ tNmZy-ß-fn¬ GsX-¶nepw 8 

FÆ-Øn\v DØ-c-sa-gp-Xp-I. (2 kvtIm¿ hoXw)

6. Xmsg sImSpØ- nc- n°- p∂ Hm¿_n‰- ¬ {]kXv mh- n°- pI- .

a) n = 4,    l = 0,   b) n = 3,   l = 1 (½ each)

a) -Xmsg sImSp-Øn-cn-°p-∂-h-bn¬ km[y-a-√mØ 

Izm≠w \º¿ GXmWv? F¥p-sIm≠v?

i) n = 4,I = 0 m  = 0 m  = + ½l s

ii) n = 2 I = 2 m  = 0 m  = -½l s

7. ssl{U-Ps‚ kvs]Iv{S¬ sse\p-Iƒ GsX√mw?

8. H S & H O bn¬ Xnf-\ne IqSp-X¬ GXn-emWv? 2 2

F¥p-sIm≠v?

9. _̂¿skm-eq-j≥ F∂m¬ F¥v? DZm-l-cWw 

Fgp-Xp-I.

10.A\n-en-s\bpw t¢mtdm-t̂m-an-s\bpw th¿Xn-cn-

°p∂ Hcp {]{Inb hni-Z-am-°p-I.

11.a) Kn_k-v  vsl¬t- amS- k-v  vka- h- mIyw {]k- X-v mh- n°- pI.

b) k¥p-e-\m-h-ÿ-bn¬ ÿn-Xn sN-øp-∂ H-cp {]-

h¿-Ø-\-Øn-s‚ G  F-¥m-bn-cn-°pw.

12.samfm-en-‰n-bpw, samfm-cn-‰nbpw KmUX Af-°m≥ 

D]-tbm-Kn-°p-∂Xv F¥p-sIm≠v ?

13.a)sa≥U-en-b- n̂s‚ ]ncn-tbm-UnIv \nbaw 

{]kvXm-hn-°p-I. 

b) Hcp ta∑ Fgp-Xp-I.

A



14.`Electro negativity of oxygen is greater than 

sulphur. But electron gain enthalpy of sulphur is 

greater than oxygen. Why?

15. Draw the sawhorse projections of ethane. 

Which one is more stable?
-

16. clo  donot give disproportionation reaction 4

-while clo  give disproportionation reaction. 3

Why?

Answer any eight questions from 16 to 26 (each 

question carries 3 score)

17. CH  - CH = CH  + HBr          A         +   B            3 2

Which rule is used in this reaction? State the 

rule?

18. A compound contain 4.07% H ,  24.27 % C and 2

71.65% Cl. Its molar mass is 98.96g. What are 

its empirical and molecular formula.

19. a) Among Boron (B) and Berillium. Which 

possess greater first ionistation energy. 

     Why?

b)  Name the scale to calculate electronegativity.

20. Rutherfords atom model is based on alphra ray 

scattering experiment

a) What are the postulates of rutherfords atom 

model?

b) What are the demerit?

21. Dipolmoment is the quantity to measure 

polarity of covalent bonds

a) What is dipolemoment?

b) NH  and NF  has pyramidal shape and 3 3

lonepair of electron, but the dipolemoment 

of NH  is grater than NF . Explain?3 3

14.HmIvkn-Ps‚ CeIvt{Sm s\K-‰n-hn‰n kƒ̂-dn-t\-

°mƒ IqSp-X-em-Wv. F∂m¬ Ce-Ivt{Sm̈ 

sKbv≥-F≥Xmƒ]n kƒ̂-dn-\mWv HmIvkn-P-t\-

°mƒ IqSp-X¬. ImcWw hy‡-am-°p-I.

15.CutY-\ns‚ tkmttlmkv s{]mP-£≥ hc-bv°p-

I. GXn-\mWv ÿncX IqSp-X¬?

-
16.clo Unkvs{]m-t]m-j-W¬ cmk-{]-h¿Ø\w \S-4 

-
Øp-∂n-√, F∂m¬ clo  Unkvs{]m-t]m-j-tW- 3

j≥ \¬Ip-∂p. F¥p-sIm≠v?

sImSp-Øn-cn-°p∂ tNmZy-ßƒ°v aq∂p am¿°n¬ 

Ihn-bmsX DØ-c-sa-gp-Xp-I.

17.CH  - CH = CH  + HBr          A         +   B 3 2

F∂nh Xncn-®-dn-bp-I.

GXv \n-b-a-a-\p-k-cn-®mWv Cu cmk {]h¿Ø\w 

\S-°p-∂Xv? \nbaw {]kvXm-hn-°p-I.

18.Hcp kwbp-‡-Øn¬ 4.07% ssl{U-P\pw, 24.27% 

Im¿_Wpw, 71.65% t¢mdn\pw AS-ßn-bn-cn-°p-∂p.

CXns‚ -X-∑m-{Xm-̀ mcw 98.96 {Kmw BsW-¶n¬ 

LS\m-hm-Iyhpw X∑m-{Xm-hm-Iyhpw                      

Fgp-XpI?

19.a) t_mtdmWpw s_dn-en-bhpw Xmc-Xayw 

sNbvXm¬ GXn-\mWv Ã̂v Atbm-Wn-IXm 

Du¿Pw IqSp-X¬? F¥v-sIm≠v?

b) CeIvt{Sm s\K-‰n-hn‰n IW-°m-°m≥  D]-tbm-

Kn-°p∂ am\-Z-WvU-Øns‚ t]sc¥v?

20.dqY¿t̂m¿Uns‚ B‰w amXrI B¬̂ 

hnIncW-ß-fpsS NnX-d-ep-ambn _‘-s∏́ ]co-

£-WsØ ASn-ÿm-\-am-°n-bp-≈-Xm-Wv.

a) dqY¿t̂m¿Uns‚ B‰w amXr-I-bp-ambn _‘-

s∏́ {][m\ XXz-ßƒ Gh?

b) dqY¿t̂m¿Uv amXrI- b- psS t]mcmb- vaI- ƒ Gh?

21.ssUt]mƒsamsa‚v klkw tbmP-I-W-ß-fpsS 

{[pho-I-c-W-hp-ambn _‘-s∏́ Af-hmWv?

a) F¥mWv ssUt]mƒsam-sa‚v?

b) ]nc-an-U¬ BIr-Xnbpw cmk-{]-h¿Ø-\-Øn¬ 

G¿s∏-SmØ Ce-Ivt{Sm-Wp-Ifpw D≈ kwbp-

‡-ß-fmWv NH Dw  NF Dw. ]t£ NH °v 3 3 3 

Nf tbm°mƒ Db¿∂ ssUt]mƒsam-sa‚v 3

BWv. hni-Zo-I-cn-°p-I.

major minor



22.   Equilibrium constant can be measured in terms 

of pressure or concentration

1. What is the relationship between Kp and Kc

2. For the equilibrium

The value of equilibrium constant Kc is 3.75 x 
-610  at 1069K. Calculate the Kp for the reaction 

at this temperature?

23. a) Name the given organic compounds

b) Write the chain isomer of C H4 10

24.  Give the product of the following reaction

CH     CH    CH      CH     Ch       CH3 2 2 3

CH     CH2 3

CH3i)

ii)

cl

NH2

Br

O

iii) CH  - CH = CH - CH  - CH  - OH3 2 2

22.k¥pe- nX- mh- ÿm ÿncm¶w a¿±Ø- ns- ‚bpw KmUX-  -

bp-sSbpw ASn-ÿm-\-Øn¬ Af-°m-hp-∂-Xm-Wv.

a) Kpbpw  Kcbpw XΩne- p≈ _‘w hniZ- oI- c- n°- pI- .

b) k¥p-en-Xm-h-ÿ-bn¬

ChnsS k¥p-en-Xm-ÿn-cm-¶-Øns‚ aqeyw 1069k 
-6

Xm]-\n-e-bn¬ 3.75x10  BWv. Cu cmk-{]-

h¿Ø-\-Øn¬ KpbpsS aqeyw X∂n-cn-°p∂ Xm]-

\n-e-bn¬ IW-°m-°p-I.

23.Xmsg sImSp-Øn-cn-°p∂ Hm¿Km-\nIv kwbp-‡-

ß-fpsS t]sc-gp-Xp-I.

b) C H s‚ sNb≥v  sFtSma- ¿ Is≠Øn FgpX- pI- .4 10 

24.Xmsg sImSp-Øn-cn-°p∂ cmk-{]-h¿Ø-\-ß-fpsS 

D¬]-∂-ßƒ Fgp-Xp-I.

CH     CH    CH      CH     Ch       CH3 2 2 3

CH     CH2 3

CH3i)

ii)

cl

NH2

Br

O

iii) CH  - CH = CH - CH  - CH  - OH3 2 2

3C  H2 2a)
Red bot

tube
.......................

.......................

+ CH COCl3c)
Anhy. Alcl3

...................O

2CH  -Br + 2Na3b)
Dry ether

3C  H2 2a)
Red bot

tube
.......................

.......................

+ CH COCl3c)
Anhy. Alcl3

...................O

2CH  -Br + 2Na3b)
Dry ether

2NOCl          2NO + Cl2

(g) (g) (g)
2NOCl          2NO + Cl2

(g) (g) (g)



25. Balance the following redox reaction by half 

reaction method in acidic medium

26. a) State first law of thermodynamics with its 

mathematical expression?

b) Select extensive and intensive properties 

from the following

(Mass, Volume, Pressure, Temperature, Internal 

energy heat capacity)

Answer any four questions from 27 to 31 (each 

questions carries 4 Scores)

27. Bohr model failed to explain Heisenberg’s 

uncertainity principle.

a) State Heisenberg’s uncertainty principle with 

mathematical equation?

b) Calculate the uncertainty in velocity of a ball 

having mass 3 kg with uncertainty in position 
0400A

28. a) Be  doesnot exist. Why?2

b) Match the following 

Hybridisation Shape
3Sp Octahedral

Sp Trigonal planar
2Sp Trigonalbi pyramidal
3Sp d Linear Tetrahedral

29. a)

with help of Lechatliers principle predict the 

direction of the reaction of following cases

i) High temperature

 ii) High pressure

iii) Addition of SO3

iv) Presence of Ne gas

2SO  + O              2SO2 2 3

(g) (g) (g)

H = -198 KJ lmol

25.Xmsg sImSp-Øn-cn-°p∂ dntUmIvkv cmk-{]-

h¿Ø-\sØ lm̂v dnbm-£≥ am¿K-ap-]-tbm-Kn®v 

kao-I-cn-°p-I.

26.a) sX¿tam-ssU-\m-an-Ivkp-ambn _‘-s∏́ BZy-

\n-baw {]kvXm-hn-°p-I. AXp-ambn _‘-s∏́ 

KWn-X-cq]w Fgp-Xp-I.

b) Xmsg sImSp-Øn-cn-°p-∂-h-bn¬ \n∂pw 

FIvÃ≥ko-hv, t{]m∏¿́o-kv, C‚≥kohv 

t{]m∏¿́okv F∂nh Xncn-®-dn-bp-I.

27 apX¬ 31 hsc-bp≈ tNmZy-ß-fn¬ GsX-¶nepw        

5 FÆ-Øn\v DØ-c-sa-gp-Xp-I. (4 kvtIm¿ hoXw)

27.sslk≥_¿Kns‚ A\n-›n-XXz Xxzw hni-Zo-I-cn-

°p-∂-Xn¬ t_m¿tam-U¬ ]cm-P-b-s∏-́ p.

a) KWn-X-k-a-hm-Iy-tØm-Sp-Iq-Snb sslk≥ 

_¿Kv XXzw hni-Zo-I-cn-°p-I.

0b) 400A  A\n-›n-XXz kΩ¿±-ap≈ 3kg ]nWvU-

ap≈ Hcp ]¥ns‚ A\n-›n-XXz thKX IW-

°m-°p-I.

28.a) Be \ne-\n¬°p-∂n√ F¥p-sIm≠v?2 

b) tNcpw-]Sn tN¿°p-I.

Hybridisation Shape
3

Sp Octahedral

Sp Trigonal planar
2Sp Trigonalbi pyramidal
3

Sp d Linear Tetrahedral

29. a)

se Nm‰ven-b¿ XXzw D]-tbm-Kn®v Xmsg ]d-bp∂ 

cmk {]h¿Ø-\-Øns‚ Zni {]h-Nn-°p-I.

i) Db¿∂ Xm]w

ii)  Db¿∂ a¿Zw

iii) SO Iq́n tN¿°pI3 

iv) \ntbmWv Kymkns‚ km∂n[yw

.

2+ 2- 3+ 3+
Fe  + Cr O             Fe  + Cr2 7

2+ 2- 3+ 3+
Fe  + Cr O             Fe  + Cr2 7

2SO  + O              2SO2 2 3

(g) (g) (g)

H = -198 KJ lmol



b) Calculate the PH of a 0.01 M acetic acid 

solution with the degree of ionisation 0.045

30. Carbocations are important intermediates in 

organic reactions.

a) Arrange the following carbocations in the 

increasing order of stability and explain the 

reason?

b) Define Nucleophile and electrophile with 

example?

31. Lattices enthalpy cannot be measured by an 

experiment

a) Define lattice enthalpy?

b) Draw the Born Haber cycle of NaCl

c) Which law is applied in Born-Haber Cycle for 

the determination of lattice enthalpy of 

NaCl?

b)Atbm-ssW-tkj≥ 0.45 F∂ tXmXn¬ 0.01 M  

Ak-‰nIv BknUv emb-\n-bpsS PH IW-°— °p-

I.

30.Hm¿Km-\nIv cmk-{]-h¿Ø-\-Øn¬ C‚¿ao-Un-b-

Øns‚ ÿnc-Xsb ASn-ÿm-\-am-°n-bp≈ 

D¬∏∂w èn-°pw.

a)  \¬In-bn-cn-°p∂ Im¿t_m-Im-‰-tbm-Wp-I-fpsS 

ÿncX {Iao-I-cn-°p-I. ImcWw \¬Ip-I.

b) \yq¢ntbm-sŝ¬, Ce-Ivt{Sm-sŝ¬ F∂nh 

\n¿h-Nn-°p-Ibpw Hmtcm-∂n-s‚bpw DZm-l-

cWw \¬Ip-Ibpw sNøp-I.

31.]co-£-W-Øn-eqsS em‰nkv Du¿Pw IW-°m-

°m≥ Ign-bn-√.

a)em‰nkv Du¿Pw \n¿h-Nn-°p-I.

b) NaCl s‚ t_m̈ tl_¿ ssk°n-fn¬ 

em‰nkv F¥m¬∏n IW-°m-°p-∂-Xn\v 

]n∂nse \nbaw GXmWv?

.

+ + + +
CH C H        C H       (CH ) C     (CH ) C H3 2 3 3 3 3 2 

+ + + +
CH C H        C H       (CH ) C     (CH ) C H3 2 3 3 3 3 2 
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